Math 253 LP 6 - 8.5 Power Series ‘ f &
o, '\I'-L“gﬂ/‘ ‘;

o0
and the power series P(z) = ) 2" using the first k-terms
n=0

” 1
1. Graph the function f(z) = 1
where you start with £ = 1 and up that number until you have a good idea of what the
radius of convergence and interval of convergence are. Then find the radius of convergence

and interval of convergence of P(z) symbolically.
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2. Find the radius of convergence and interval of convergence for the following series
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3. If f(z) = >  cpa™, where cpyq = c,, for all n > 0, find the interval of convergence of the series
n=0 .
and a formula for f(z).
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